R#ETFAN XFA ZT"ERE 02

1. XOiEZEX. (ST, AKk40®, Bik1, CH15208 )

(1)  4ax3 (2)  5bx (—4)

(3)  —6a -+ (—3) (4) —Txx5

(5)  da =2 6)  —8x x (=7)
(1) —ax2 (8)  —19¢ x (—10)
9 22+ (-8) (10)  -3z+6
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2. ROHEEEE (S22, A0, B#15, CH13208)

(1) 9ax3 (2)  Tbx (—4)

(3) —12a = (—4) (4)  —6x x5

(5)  8a+2 6)  —8x x(-9)
(1) —axT7 (8)  —12¢ x (—100)
9) 3z (-9) (10)  —4z+20
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REFAN XFR RERHE 02 RE®D

ROFGEE L (S5, AMRAOB, BRI, CR1Z20H)

(1)  4ax3 (2)  5bx (—4)
=12a = —20b
(3) —6a+(-3) (4) =Tz x5
= 2a = —35x
(5)  da =2 6) =8z x (=7)
= 2a = 56x
(1) —ax2 (8)  —19¢ x (—10)
— _2a =190c
9 22+ (-8) (10)  -3z+6
1 1
=——x =——x
4 2
__=z __z
4 2
W EZIFELSTH X, W EZIFELSTH X,
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2.

ROFEEZE L. (S5, Af40%, Bf14r, CH13 20 )

(1) 9a x 3

=27a

(3)  —12a -+ (—4)

=3a

(5)  8a-=2
=4a

) —a X7
=—Ta

BRI

Y BEZRELSTYH X,

(2)  Tbx (—4)
= —28b

(4) —6x X 5
= —30x

(6) =8z x (—9)

=T2x

(8)  —12¢ x (—100)

= 1200c

(10) —4x =+ 20

x
5

xr
5

Y BEZRELLTH L.
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